10:10~10:30

5A YAIVRARF—IFER

11:30~11:50 13:15~13:35

18(k) =8 25 N =5 BIRXIF—DRR
28(K) & U< Y 1 KESRSR &= SOMHLE
38(&) AES) KRKEDFES s TV D3R
48(%) AE#) Fa)—KRAEHEHR AEE) —a—BMDFER
58(B) Ak BHIUVADER AR NIVDFELR
68(8) &% HBDALE & TPST—DHER
78(K) K B8

88(%k) &% BISENIR—I &% K[EDFHR
98(K) =% ERDEDVHD &% 25 RZEf
108(&) x8 JrA10HR & Uo< Y 1 KERSR
118(%) =B SDMALE =8 IIYVOFHNA
128(8) AE#) PP ST—DHER AE#) KSKEDFKS
138(R) 17 B

148(%) &= HAJUVFDHERR (=5 BIXIF—DRR
158(%K) =% WBDALE &% FaU—KALHSHR
16B(XK) &% RISEDAR=IV &% —a— M OER
178(%) =% ENDBDVHD &% NJVDFA
188(t) &% 25 RZEf E8 Jr40HR
198(B) AEE) TV DFA AE#) Fal)—KRACHEHR
208(A) 17 B

218(X) &85 KSEDFER =5 BIXIF—DRR
228(K) &% U< Y 1 KESRER &8 FPSIT—DHERK
238(K) &% FaU—KACHaHR &%) BISENASR—I
248(2) =% ENDBDVHD & IIVVOFHNA
258(t) &% SDALE &% 25 RZEf
268(B) AEB) —=a—BM/DER (AEB) NIVDFELR
278(R) 17 B

288(K) &= HIUVFDHER x8 Jr40HR
298(K) &% RISEDAR—=IV &% TPI5T—DHER
308(K) =% HBDALE &= NIVOFA

318(%)

(=8 Za—PM/DFER

=% U2< Y 1 KESRSR

14:35~14:55




